Eicher Interview Questions

Q1. If goods is transferred to other state by if form condition. With some value. Then
if form issued form the government is value will be same as transfer time......

Q2. Explain about front drive mechanism in vehicle
Q3.4=SinR

Q4. If single phase is 230 v three phase is 440 v then what about two phase?and why
is it s0?

Q5.Gas turbine power plant works on which cycle
Q6. (A/B)(C-(D/E)+F)

Q7. IF RPM OF PTO OF TRACTOR IS 540,torque at pto is 21kg/cm sq.& WE
NEED IT TO 1800 RPM ,THROUGH GEAR ONLY FOR THAT WHAT WOULD
BE ETHE GEAR STRUCTURE( I.LE.NO TEETH OF BOTH GEAR ) IN ORDER TO
GET 1800 RPM OUTPUT.

Q8. How to find the max load of the engine?
Q9. Difference among all version in tally as; 4.5, 5.4, 6.1, 7.2, 8.0, 9.0, 9.2,
Q10. What do u mean by quality assurance and quality control?

Q11. If you are handling distribution network,could you tell me yourself on that field
? and also tell me ROI at the point of Company ,Wholeseller,retailers.

Q12. Define yourself
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